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(3)

Farming system represents an appropriate

combination of .....ccccoeveiienil. and the
mean available to raise them for
profitability.

(A) Farm resources
(B) Farm enterprises
(C) Both (A) and (B)

(D) None of the above

............... is a process of harnessing solar
energy in the form of economic plant and

animal product.

(A) Agriculture
(B) Farming
(C) Poultry

(D) Animal Husbandry

The change in the level of one product
changes the level of other product in the

same directionisa:

(A) Complementary relationship
(B) Joint products
(C) Competitive relationship

(D) Supplementary relationship
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4.

BN yoell Sfcan fhae fou smaws
g7

(A) BN IUEAT B GEdl H GIR Gl

(B) W& 3R URIR & 3T I
(C) Verd TRel UoTTell fadRid &=

(D) ST W

IR G H TERH STH G I
Bl &

(A) 10% BT &3 3

(B) 20% T & 3

(C) 30% BN & 3y

(D) 50% T & 3

I & Sared H uRaaefierar, o

AT T ST ®, e
(A) SR

(B) wReH

(C) T (A) 3R (B)

(D) SWad # | BIS T
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(4)

Farming system approach is necessary :

(A) To improve efficiency in farm

production

(B) To raise farm and family income
(C) To develop farm household system

(D) All of the above

In supplementary relationship subsidiary

enterprise contributes :

(A) 10% farm income
(B) 20% farm income
(C) 30% farm income

(D) 50% farm income

The variability in future output, which is

not measured, is called :

(A) Uncertainty

(B) Risk

(C) Both (A) and (B)

(D) None of the above
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(A) fafaeiiepd i
(B) ooy @l
© % udl

(D) fAfdra @l

JAET B FRS @ :
® A

(B) oM

(€ o

(D) ST W

AG-6001

(5)

Farm size, business skill and resources of

farmer affect the :

(A) Type of farming

(B) System of farming

(C) Cropping system

(D) None of the above

Subsistence  farming and

farmingisa:

(A) Diversified farming

(B) Specialised farming

(C) Dry farming

(D) Mixed farming

Factor of production is :

(A) Land

(B) Labour

(C) Capital

(D) All of the above

marginal
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10. A IAGH & H1 UUIeH AT SH B 10. Crop production is combined with

FH HET HEATT & - livestock raising or dairying is called :

(A) Fi¥a wad (A) Mixed cropping
(B) ATl (B) Intercropping
) fafda @ (C) Mixed farming
(D) gl (D) Multiple cropping

1. IgqE SN 4 uRRefyer g 11. In  modern  agriculture  ecology

5. is :

(A) 3 (A) Stable

(B) el (B) Flexible

(€) ¥R (C) Fragile

(D) SUYd H § I el (D) None of the above
12. X9 Y $T SR B 12.  Example of state farming is :

(A) TSI B (A) Demonstration farm

(B) N ver (B) Seed farm

(C) 3THY WA (C) Research farm

(D) Sugad FI (D) Al of the above
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13, FfoRed § & -1 I FE el 7 ?

(A) Yo @il ™ sifereaH
AT

(B) foar wdll IRIR @l
CICRUGII NG|
gl AT

(C) S Wl WEHR gRI B
YT BT

(D) %7 dve ft faftel

14, <Y, WeE U4 $RH FHd §

(A) WMiR® A
(B) WEHRI &l A
(C) DR Wl |

(D) Yolaral &l &
15. TA. 8. AR & R WY foIRed
(A) 79T 3ME R

(B) Y T IFgUd
(C) M e °

(D) SWad # | BIS T
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(7)

13.

14.

15.

Which of the following pairs is not

correct ?
(A) Capitalistic Maximise the
Farming profit
(B) Peasant Fulfil family
Farming needs
(C) State Farming  Farm managed
by Government
(D) Ranch land Agriculture
Practices

Toz, Kholkhos and Commune are related

to:
(A)
(B)
(©)
(D)

Collective farming
Cooperative farming
State farming

Capitalistic farming

LER stands for :

(A)

(B)

(©)

(D)

Lead Economic Rate
Land Equivalent Ratio
Land Economic Rate

None of the above
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16. M 9AG MU @I T e 16. LER is used for the assessment

qeli # fopar Srr & 2 of

(A) Fi¥a wad (A) Mixed cropping

(B) TTHHEA (B) Multiple cropping

(C) ITHAA (C) Intercropping

(D) el B (D) Relay cropping

17.  TheeR’ 9 o 91 < foram a7 ? 17. The word ‘agriculture’ is derived from

which language ?

(A) dfes (A) Latin

B) Y@ (B) Greek

(©) % (C) French

(D) fe=d (D) Hindi

18. g9 H g AL U IR H v 18. Present time Director General of

g ICAR is :

(A) 4. Ul g (A) B.P.Pal

(B) TUH. UH. MMM (B) M. S. Swaminathan
(C) 3. AU (C) T.Mohapatra

(D) i | yam ol (D) Shri Surya Pratap Shahi
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19. IEHEd Gadid fbw faar ? 19. Multiple cropping index is given by :

(A) STERAA (A) Dalrymple
(B) H@f Al (B) McGilchrist
(€) dfae (C) De Wit

(D) fdet iR M (D) Willey and Rao

20. ffcifEd & & &9 Ha1 Al @ 20. Which of the following restore the soil

W@@H FRAT R ? fertility ?
(A) 3 dTell H¥el (A) Cereals
(B) gofe el (B) Legumes
(C) HIC 3l dTell Wel (C) Millets
(D) 3 dTell B¥iel (D) Fibre crops
21. ?Frs;—ﬂr_vﬂ P BEd dH guddr 2l 21. Crop rotation intensity of Sanai-
3. Sugarcane is :
(A) 100% (A) 100%
(B) 200% (B) 200%
(C) 50% (C) 50%
(D) 400% (D) 400%
22. T¥d FEAAT B T3 B § 22.  Formula of cropping intensity is :
(A) B9 FYd (A) Cl = Total Crgpped Area 100
Fel AT OF 100 Net Cultivated Area
= =2 X
g Bl &l
o 0 o= fas
pp
. s ¥ 100
FH w8

3US Y
C) ™Yl ¥YAdl = ———— x 100 C) Cl=—x100
(©) a— X ©) ETX
(D) SUYa H A Bl Tl (D) None of the above

AG—-6001 (9) Set-A



23, HF-U1 BAdl B BAd dh Fual 23.

HHd & OR TR T8l [ o § 2
(A) 3T dTel B¥Ie

(B) ERT W& wadl

(C) IO Bl

(D) T HHcl

24, WG + 3] + A ¢ 24,

(A) Tgaia wadt T
(B) T IUT B TH
(C) TUHaug H¥iel dsh

(D) TR qUT ¥l Tsh

25.  3eeled Bd Bl IS § 25.

A T
(B) ¢dm
(C) 3T
(D) =

26. BOcl & d¥d $HY AR WHe Fgawem  26.

BB ¢

(A) HEA g
(B) A TN
(C) wga YurTel!
(D) Y womelt

AG—-6001 (10)

Which crops are not considered as crop in

crop rotation intensity ?

(A)
(B)
(©)
(D)

Fibre crops
Green manuring crops
Sugar crops

Legume crops

Maize + Potato + Onionis a:

(A)
(B)
(©)
(D)

Two-year crop rotation
Three-year crop rotation
One-year crop rotation

Four-year crop rotation

Example of cover crop is :

(A)
(B)
(©)
(D)

Wheat
Paddy
Urd

Sugarcane

Yearly sequence and spatial arrangement

of crops is called :

(A)

(B)

(©)

(D)

Cropping pattern

Cropping scheme

Cropping system

Farming system

Set-A



27. BHd IAed, SN arve], T ured vl 27. Crop production, agroforestry, poultry

TR E

and livestock are the components of :

(A) BN gorell & (A) Farming system
(B) WA YUl & (B) Cropping system
(C) Tl & YR & (C) Type of farming
(D) SUYa H H Bl el (D) None of the above
28. NIMPIC Uleld Pl Ped @ : 28. Rearing of silkworm is :
(A) TidHeR (A) Apiculture
(B) INIFeR (B) Sericulture
(OIRENIETEN (C) Pisciculture
(D) Hfvara (D) Agroforestry
29. WEHN fRRIGR Wl # 9 @1 wWifi@ 29, In cooperative tenant farming ownership
T T of land is :
(A) I (A) Individual
(B) Hfe® (B) Collective
(C) T (A) R T & (B) (C) Neither (A) and nor (B)
(D) THI (A) 3R (B) (D) Both (A) and (B)
30. Y BN I W GHAT © - 30. The main problem of dry farming is :
(A) 9T &I THI R O (A) To conserve soil moisture
(B) Ie-UaM H AT He (B) To control insect-pest
(C) WUTAR ®I fAafera &= (C) To control weed
(D) T qui (D) High rainfall

AG—-6001 (11) Set-A



31.

32.

33.

34.

AG-6001

YOO T e @

(A) SRR Td

(B) fifd

(C) dI. favary

(D) STeRAd

WRSHRY & g8 Ja1 @l Wil Su
BB ©

(A) Jeds

(B) fecu

(©) TN

(D) SHIF T

Ret BITHT BT = fdar
(A) Tl I9E Rig gR

(B) . YN UNTE g
(C) ¥RRGE I gN1

(D) RRT T BT

cFaaMier &1 W foas e | fdar
I & ?

(A) T

(B) I T

€ Fa1 9

(D) USRI &9

(12)

31.

32.

33.

34.

Father of tillage :
(A) Jethro Tull

(B) Liebig

(C) B. Vishwanath

(D) Dalrymple

The physical condition of soil after tillage

is called :

(A) Seedbed

(B) Tilth

(C) Nursery

(D) All of the above
Relay cropping is given by :
(A) Dr. Punjab Singh

(B) Dr. Rajendra Prasad
(C) Sher Singh Bains

(D) Jethro Tull
Tensiometer is used for the measurement

of :

(A) Soil temperature

(B) Soil moisture

(C) Soil air

(D) Atmospheric pressure

Set-A



35.

36.

37.

38.

AG-6001

Tollell & U
(A) VISRS
(B) ®EM®G Wra
(C) o
(D) SRG

TS Wl & Al BT SIHIHRYT fohab
g fobarr wrerm @ °

(A) TIHdaeR

(B) iguifae

(C) uireT

(D) el BRA ATt

Uy AgcioM @ fbd WO # aenid
A8 7

(A) NH;

(B) NO;

(C) =M (A) 3R (B)

(D) SWYad # | BIg T2

IR ¥ TG e w9 # gRIT S € ?
(A) TES

(B) TEge

(C) T (A) 3R (B)

(D) SUYa H A Bl 7l

(13)

35.

36.

38.

Azollaisa:

(A) Biofertilizer

(B) Organic manure
(C) Biopesticide

(D) Fertilizer

Seeds of legume crops are inoculated by :

(A) Azotobacter
(B) Rhizobium
(C) Azolla

(D) Blue Green Algae

Plants absorb nitrogen in the form of :

(A) NH,
(B) NOs
(C) Both (A) and (B)

(D) None of the above

Nitrogen is found in urea in the form of :

(A)  Amide

(B) Nitrate

(C) Both (A) and (B)

(D) None of the above

Set-A



39. I8 o e AR R wd @ 39. The plan, according to which crops are

RGeS W e S o %, raised on individual plot of a farm, is
called :
BB ©
(A) B ughd (A) Cropping system
(B) HAA TN (B) Cropping scheme
(C) wda YurTel! (C) Cropping pattern
(D) BN yomel! (D) Farming system
40. ol R Iarel BT YANT fhar o § 40. Blue Green Algae is used in :
(A) TEH (A) Wheat
®) T (B) Moong
(C) R H (C) Pigeonpea
(D) o @I W | (D) Rice cultivation

41. 9 < 7 3 9 s Baai bl 997 o 41. Growing of two or more than two crops

Ui eavel & U Wi SURN Wl &, simultaneously without a definite row

arrangement is called :

HEAM T -

(A) R (A) Intercropping
B) fAfl @ (B) Mixed farming
(C) Wi wad (C) Mixed cropping
(D) Rl wift (D) Relay cropping

AG—-6001 (14) Set-A



42. 59 YR @ ITHIT § Bl b a1 42.  In which type of intercropping crops have

B yfeeyf a1y 2 ? zero competition ?

(A) FAFTR B (A) Parallel cropping
(B) il By (B) Companion cropping
(C) S gHTC Byl (C) Multistorey cropping
(D) WEhITHD HHel (D) Synergetic cropping

43. Ror DIt @ 3R foog A\ 9 ST Sl 43. Relay cropping is also known as :
g ?

(A) DHD I (A) Sequential cropping
(B) BT woe (B) Overlapping cropping
(C) Tdhcl Bl (C) Monocropping
(D) RIFIARYT Wil (D) Shifting cultivation
44. IR BAA JAferd B 44. Utera cropping practice is in :
(A) URTH e | (A) W.B.
(B) fdgr # (B) Bihar
(C) ¥4 yeyl H (C) Madhya Pradesh
(D) @HicH H (D) Karnataka
45. 9@ T BN B 45. Land is rotated in :
(A) Tdd BuIel | (A)  Monocropping
(B) IgHHA H (B) Multiple cropping
(C) RIFIRYT Wl § (C) Shifting cultivation
(D) IRT 3prar ST H (D) Paira or Utera

AG—-6001 (15) Set-A



46.

47.

48.

49,

AG-6001

ffeiRad # 4 BIF-91 ggHiieT Bad
BT ISR © °

(A) TG + T

(B) T + Sile]

(C) <Ml (A) &R (B)

(D) SWw F ¥ I T

fepell foRIy @ & fofv el Befel yomed!
iR el &

(A) B TR R

(B) WM STH W

(C) WM TNl ®

(D) Suda Wl
frefoRed § 9 a9-@ e $oF g
A g ?

(A) =T

(B) el

(C) 3]

(D) SHIE W

for aut arel & § B0 wAe gomed!
Rl S € ?

(A) 9gHH

(B) Uddl HEd

(C) Wi wad

(D) ST W

(16)

46.

47.

48.

49.

Which of the following is an example of
multistorey cropping ?

(A) Wheat + Mustard

(B) Sugarcane + Potato

(C) Both (A) and (B)

(D) None of the above

Efficient cropping system for a particular
farm depends on :

(A) Farm resource

(B) Farm enterprises

(C) Farm technology

(D) All of the above

Which of the following is a capital

intensive crop ?

(A) Sugarcane
(B) Banana
(C) Potato

(D) All of the above

In low rainfall areas which type of
cropping is adopted ?

(A) Multiple cropping

(B) Monocropping

(C) Mixed cropping

(D) All of the above

Set-A



50. YT B AT O ® 50. Intensive cropping is adopted in :

(A) Wi @ A (A) Limited land

(B) wifAd Yol o (B) Limited capital
(C) ifH s H (C) Limited labour
(D) Sugad FHI (D) Al of the above

51. @ woal R YA & @& @& 51 Study of the relation of agricultural crops

FER T and environment is :
(A) Elg‘f%f TIRRercra! (A) Agro-ecology
(B) Elg‘f%f CUEEA] (B) Agro-forestry
(C) el ¥ (C) Alley cropping
(D) SUYd H H I el (D) None of the above

52. @Y B T & 52.  Problem of agriculture is :
(A) Yol &R & g™ (A) Depletion of groundwater table
(B) &N e R # frmae (B) Decline in agricultural growth rate
(C) 9l B AR Ugyol (C) Increasing environmental pollution
(D) Sugad F4I (D) All of the above

53. feors @l g 53.  Sustainable agriculture is :
(A) e w9 fears, (A) Economically sustainable
(B) UIRY & I (B) Environmentally sound
(C) URAR 3R FYE™ @& fory 3ol (C) Good for family and communities
(D) Sugad FI (D) All of the above

AG—-6001 (17) Set-A



54. VP YSE IUMIG S IAGA MO @l
qF WY W WERT e @ fog fawa,

W, fafie SHeR g aee g,

HEAN € -

(A) HRIETT URSHR
(B) Jf By

(C) UHidheaR
(D) FHEMG Wi

55. 3MS. U, . & 1 M 2 :

(A) RcdiderR
(B) Ricdlure=R
(C) Bfiper
(D) Tl

AG-6001

(18)

54.

55.

56.

A management strategy that employs
detailed, site-specific information to
precisely manage production inputs, is

called :

(A) Conservation tillage

(B) Precision agriculture/precision
farming

(C) Permaculture

(D) Organic farming

IFS stands for :

(A) Integrated Farming System
(B) Integrated Food System
(C) Integrated Fodder Supply

(D) Integrated Food Supply

Crop + Tree is :

(A) Silviculture
(B) Silvipasture
(C) Horticulture

(D) Agroforestry

Set-A



57. Udldhd Y JUTell & oM § : 57. Advantages of integrated farming system
are :

(A) ArHTT I9g Res iR arear (A) Maximum possible return and
profitability
(B) TAaRv GRe (B) Environmental safety
(C) TR & HHT B W G (C) Meeting fodder crises
(D) SWa &l (D) All of the above
58. Y TH. L. U B W WY T : 58.  Full form of USDA is :
(A) TAECS Wl By [T (A) United States Department of
Agriculture
(B) WY fasrd Toi=il (B) Union Development Agency
(C) Tasfia Tordl @1 Fe amyfl (C) Union Supply of Developed
Agency
(D) TP HiY fawmT (D) United Department of Agriculture
59. SR USW & BN FA B 7 ? 59. Who is the Agriculture Minister of Uttar
Pradesh ?
(A) A = Rig amR (A) Shri Narendra Singh Tomar
(B) #1 gd yam e (B) Shri Surya Pratap Sahi
(C) S aArft snfawrT (C) Shri Yogi Adityanath
(D) 0 EHIT (D) Shri Dharmapal
60. SSRIM &I &I Ul U4, A B © - 60. The pH value of neutral soil is :
(A) 7.4 (A) 7.4
(B) 73 (B) 73
©) 7.2 C) 7.2
(D) 7.0 D) 7.0

AG—-6001 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRAdT H U® W & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd UG foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN BT Iroid 2 |

7 & Rl U9 Ul wUrRer § =TT 89 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o
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